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import pandas as pd

#2171
df_in = pd.read_csv('mn.csv', low_memory=False)

#3Y AL A

df_cut = df_in[:100]

#A2HA

df_cut = df_cut.drop(['Unnamed: 0'], axis=1)
#4 7

df_cut.to_csv('mn_cutl00.csv')
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from csv import reader

#2171
data_rdr = reader(open('mn_cutl00.csv', 'rt'))
header_rdr = reader(open('mn_headers.csv', 'rt',

#11st comprehension
data_rows = [d for d in data_rdr]
header_rows = [h for h in header_rdr]

#7 dltie do] =4
print( Ten(data_rows[0]) ) #159
print( Ten(header_rows) ) #210

encoding="utf8'))
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#5210l o]o]A

#oole &g & Gly AAHFE o= 2R
data_rows[0]

#3llt] A2} 23

header_rows|[:2]

#bad_rowsel| tlolH ¢} AX|stA] &= vl HE w7
bad_rows = []
for h in header_rows:
if h[0] not in data_rows[O]:
bad_rows.append(h)
Ten(bad_rows) #60
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#2152.200 o]0 A

#3t] () Lol A dAekA] &= sy AA
for h in bad_rows:

header_rows. remove(h)
Ten(Cheader_rows) #150

#42E &Y 5o gl dHeoly sy 535 37
all_short_headers = [h[0] for h in header_rows]
for header in data_rows[0]:
if header not in all_short_headers:
print('mismatch', header) #971
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mismatch

mismatch MDV1F

mismatch MTASE

mismatch mwelevel

mismatch mnweight

mismatch wscoreu

mismatch windex5u

mismatch wscorer

mismatch windex5r
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w I I [1] ref. chap3

github : data / unicef / mn_headers_updated.csv

0 /él 6-‘:! |:-|| O| E-| Experiment Data

mn_header_updated.csv (github) - utf-8 encoding="‘utf-8”
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from csv import reader

#2317
data_rdr = reader(open('mn_cutl00.csv', 'rt'))
header_rdr = reader(open('mn_headers_updated.csv', 'rt',

encoding="utf8'))

#1ist comprehension

data_rows = [d for d in data_rdr]

#dolHol gle e AAS 2 Y BREE wet

header_rows = [h for h in header_rdr if h[0] in data_rows[0]]

#% dve] o] %7
print( Ten(data_rows[0]) ) #159
print( len(Cheader_rows) ) #152
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#mismatch 77 dlo]E index F=
skip_index = []
all_short_headers = [h[0] for h in header_rows]
for header in data_rows[O0]:
if header not in all_short_headers:
index = data_rows[0].1index(header)
skip_index.append(index)
skip_index

#7 mismatch 24 159->152
nhew_data = []
for row in data_rows:
hew_row = []
for i, d in enumerate(row):
if 1 not in skip_index:
new_row.append(d)
new_data.append(new_row)
Ten(new_data[0])
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» 02l fAX =el

enumerate= list?t 20| =AMII Y= A= QA g2 L ol=
enumerateZH M| 2 SHECH & 20 = for20l A CIEIAQ gtsS 20| BH
2 M2lot X ot R0 At

#dlolE oA mismatch 77|l& 2}#|3t data_headersH=7]
data_headers = []
for i, header in enumerate(data_rows[0]):
if 1 not 1in skip_index:
data_headers.append(Cheader)

pol b= 9 el
# ('mmcl', 'MTA1')EYH o3t
for i, header in enumerate(data_headers):
if header not in all_short_headers[i]:
print(header, all_short_headers[i])
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skip_index = []
final_header_rows L]
all_short_headers [h[0] for h in header_rows]
for header in data_rows[0]:
if header not in all_short_headers:
index = data_rows[0].1index(header)
skip_index.append(index)
#o5tvh= F Anld
else:
for head in header_rows:
if head[0]==header:
final_header_rows.append(head)
break

skip_index
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ClOIE & 2 180l ol 23 list ==}

#3|t] A7 1ist W7
headerl = []

for row in final_header_rows:

headerl.append(row[1])
headerl

#rolgHel A F7}
new_data.insert(1l, headerl)

#list -> dataframe csvA %
import pandas as pd

df = pd.DbataFrame(new_data)
df.to_csv('mn_clean02.csv"')
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